
PORTABLE OIL FREE
COMPRESSOR BREAKDOWN

AC210

REF DESCRIPTION QTY.
1  fan cowl 2

2 fan A,B 1*1

3 crank 2

4 holding screw 4

5 bearing 6908 2

6 connecting rod 2

7 piston ring 2

8 piston 2

9 inner hexagon screws 4

10 cylinder 2

11 Round head cross screw M5 2

12 valve plate gasket 2

13 cylinder head 2

14 inner hexagon screw M6 12

15 pin 1

16 air filter 2

17 O ring 4

18 high pressure pipe3/4-16 1

19 dicharge elbow 1

20 cylinder head gasket 2

21 limited block screw 2

22 caging device 2

25 Heighten pad 2

23 dicharge valve clack 2

24 valve plate  2

26 air inflow vlave washer 2

27 square flat washer 2

28 crank case A/B 2

29 shock pad 4

30 linecard 2

31 rotator 1

32 bearing 6203 1

33  flangenut M5 4

34 motor 1

35 outer hexagon screws 4

36 spring 5 4

37 bearing 6203 1

38 nut M8 4



PORTABLE OIL FREE
COMPRESSOR BREAKDOWN

AC210

REF DESCRIPTION QTY.
39 panel 1

40 outer hexagonal screws 7

41 dicharge elbow NPT1/4 2

42 The pressure regulating valve 1

43 dicharge valve 2

44 pressure gauge 2

45 Steel wire hose NPT1/4 1

46 air tank 1

47 shaft 2

48 M10 nut 2

49 castor 2

50 drain cock 1

51 waterproof nut 1

52 Big MATS 1

53 wiring cap 2

54 capacitor 1

55 connecting box 1

56 cross joint screw M4*12 2

57 ring 1

58 safety valve 1

59 plug wire 1

60 pressure switch 1

61 non-return valve 1

62 Solenoid valve 1

63 linecard  3/4-16 1


